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1. PPP (10 points)
2. Choose the correct answer(s): Absolute Purchasing Power Parity may not hold when (5 points):

a.

b.

c
d
€.
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a.
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the prices of individual goods in the consumption bundle consistently deviate from CPP across
two countries

it can be computed even if the consumption bundles of different countries are not the same (i.e.
if the APPP rate cannot even be defined, theoretically)

the prices for individual goods are sticky

. there are tariffs, quotas, and voluntary export constraints

competition is perfect

oose the correct answer(s): Relative Purchasing Power Parity is relevant because (5 points):

empirical tests have shown that Absolute PPP is always violated, while Relative PPP is a good
predictor of short-term exchange rate exposure

consumption bundles are not always comparable across countries

price levels are not stationary over time

investors care about the real return on their international portfolio investments

investors care about the nominal return on their portfolio investments



4. What is wrong with the following statements? (8 points)

a.
b.

The forward in the expected future spot rate.

The sign of the forward premium tells you nothing about the strength of a currencys; it just
reflects the difference of the interest rates.

The difference of the interest rates tells you nothing about the strength of a currencys; it just
reflects the forward premium or discount.

The forward rate is a risk-adjusted expectation but the spot rate is independent of expectations.
A certainty equivalent tends to be above the risk-adjusted expectation because of the risk
correction.

A risk-adjusted expectation is always below the true expectation because we don't like risk.
A risk-adjusted expectation can be close to, or above the true expectation. In that case the
whole world would hold very little of that currency, or would even short it.

Adding a zero-value contract cannot change the value of the firm; therefore a forward hedge
cannot make the shareholders better off.

5. Which of the following statements are correct (4 points)?

a.

b.

C.

d.

A forward purchase contract can be replicated by: borrowing foreign currency, converting it to
domestic currency, and investing the domestic currency.

A forward purchase contract can be replicated by: borrowing domestic currency, converting it
to foreign currency, and investing the foreign currency.

A forward sale contract can be replicated by: borrowing foreign currency, converting it to
domestic currency, and investing the domestic currency.

A forward sale contract can be replicated by: borrowing domestic currency, converting it to
foreign currency, and investing the foreign currency.

6. Carry trade. What is the empirical evidence of carry trade? (10 points)









